Have a go at the EXT questions. They are similar questions, the pages get harder as you go

on. You do not need to complete them all. The third page is the most challenging set of

questions.

Divide 2 Digits by 1 Digit 2

Divide 2 Digits by 1 Digit 2

1a. True or false?
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1b. True or false?

66 =+ 6

n
—
w

2a. Share the partitioned Base 10 equally
to help you solve the calculation below.
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2b. Share the partitioned Base 10 equally
to help you solve the calculation below.
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3a. Using Base 10, partition and solve the
calculation below.
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3b. Using Base 10, partition and solve the
calculation below.
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4a. Find the correct answer for the
calculation.
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4b. Find the correct answer for the
calculation.




Divide 2 Digits by 1 Digit 2

Divide 2 Digits by 1 Digit 2

5a. True or false?
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5b. True or false?
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éa. Share the partitioned counters
equally to help you solve the calculation

below.
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éb. Share the partitioned counters
equally to help you solve the calculation

below.
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7a. Using place value counters, partition
and solve the calculation below.
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7b. Using place value counters, partition
and solve the calculation below.
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8a. Write the calculation represented
below and find the correct answer.
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8b. Write the calculation represented
below and find the correct answer.
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Divide 2 Digits by 1 Digit 2

Divide 2 Digits by 1 Digit 2

9a. True or false? Using partitioning,
complete the pictorial representation to
support your answer.

9% = 6 = 16
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9b. True or false? Using partitioning,
complete the pictorial representation to
support your answer.

72 + 4 = 14
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10a. Draw tens, partition and share all the
counters equally to help you solve the
calculation below.
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10b. Draw tens, partition and share the
counters equally to help you solve the
calculation below.
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11a. Solve the calculation below. Draw
place value counters to support your
answer.

75 + 5§ + 3 =

11b. Solve the calculation below. Draw
place value counters to support your
answer.

9% + 6 + 4

12a. Match the number sentences to the
correct answer cards.
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12b. Match the number sentences to the
correct answer cards.
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